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149 7752 309. A - T2 SHEH 2 EtA|= O 2H(E|R)
148 7480 3.9. T2 - SMEAY = ME9| 22 (E¥)
147 7544 39. 23 - EAE2Y F= Meo|= 2 (5%)
146 7636 3.9. =23 - 27 SAME 2 MR (E[2)
145 7710 3.9. T2 - 27 SME 2 St (E)
144 7502 309. UM - T2 SHE A M (E[2)
143 8003 3.9. YT - 27 SME 2 SO (El)
142 7726 309. 27 - 27 SME 2 ME9| 2 (&%)
141 7580 3.9. o7 - T27 SHE 2 MEQ 2 (EH)
140 7500 3.9. 2%+ - $IF MEEA(EI)
139 8050 309. AT - T2 S A M (E[2)
138 7683 3.9. A - $IF EtA|E O] 2H(EI2)
137 7463 3.9. AP - 27 SME 2 ME9| 2 (&%)
136 7461 39. =7 - T2 SHE A Meo|z 2 (52)
135 7513 39. =287 - Sl MEHA(EH)
134 7437 3.9. &t - Stz & MEEHEIH)
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133 7514 309, 4s7 e sfle] = Meo|z 2 (52)
132 7479 3.0. 253 - MY HE Meol|z 2 (5¢)
131 7401 3.9. 253 - 27 SME 2 Meol|z 2 (5¢)
130 7300 38. SHeT - S & MEHY(E[2)
129 7297 38. St - s oA BelofEA(EH)
128 7281 38. sHeT - ST 2 St el (E)
127 7280 38. ae - #6727 = H2oiEa (51 )
126 7275 338. Stz - stz 2 EeloiE (5l H)
125 7265 38. S - 27 SMg 2 MEHL(E2)
124 7247 338. stz - st 2d MEEA(EH)
123 7243 3.8. CH2A| - oht H= ME9| 2 (&%)
122 7234 3.8. Stz - Stz 2 M E (EH)
121 7219 38. St - sHias oA BelofEA(EH)
120 7103 3.6. HET - ST 2 ML (E[2)
119 7027 3.6. P - #6832 &2t M (E[2)
118 7011 37. Y - #6921 =2t MEHA(EH)
117 6999 37. Mz - #935 Y=zt MEHA(EH)
116 6959 3.7. 2%+ AT[QI, ZTYA siel = MY (E?)
115 6937 3.6. Y - Bt = ERIZt H& RN TGRS
114 6921 3.7. YH - #6937 Z=2} MEHA(EH)
113 6883 3.6. 457 - #6832 Y22} M (EI)
112 6845 3.7. Zek - EH|= 22t H& 22O (E[)
111 6832 34, P - Bt = 212t H& M (E[2)
110 6781 3.7. g7 - EHA = ERI2t H& Meol= 2 (5¢)
109 6773 3.7. DA - EH|= 212t H& MEo|Z 2 (AtY)
108 6727 3.6. 8OIA| - EtA = 212t H& EtA|= O] 2H(E|R)
107 6589 3.6. A - EHA = ERIZt H& EtA|= O] 2H(E|2)
106 6384 3.6. UM - EHA= ERIZt H& R TGRS
105 6131 35. g+ - Sl MEEA(EH)
104 6070 3.4, 487 - HIF ML (E[2)
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